pold_checig

4/\-" P8 (WU@A\:\L«/L bo ‘@\l‘l' NDYWJ"Q WMI i e.

Tn Yoy Letnplig .
[IENYINTZ o an. r\or:u-af GASML\'M\,

% yany wolb be  olwogs weed . o 2keqle N we Db serr2

the  faladicy awpley L2 shotd o k t}{ U(M( ‘(ﬂ-“& Ml o
/)\,vrw-&/q wou

WH—NH*H*W

0

Clendy he dhaa Soples we pendle Jo be memef siua dhy

g easonehly sedie & bl sheped  cwrve

M . &2 .LLO, C,Cw-p(od Ld’u-a MH'JL( ?

W
‘TLU—\ ™oy WDL X\ Y] _\,L_p\ (e PN YVLJ ks WJ (' r QYW\Q)




- OGuaskan

Gisan @ el o Sauply, w12 oy novmal 7
& ‘“12/ socallkg v oled (]Aw‘ﬂ% probleca,

e Xn libe 5 Fueew do You

1‘\55
Suppese & sawple Ky Koo

Jwoo
o have tha Jatowty  chotes:
—— )

M lw nod nornaf

K e woved fom i, o),

/‘\& w Sa"'r(‘é X\\ -~

LL.GM, X,- R ~ plo ),

To
Ko— M
‘Lo.o /\) )J{Oo \) ,
|
t
Xn;:‘ ~ ,_;(ox \)

hpoe b
Ay HAE %o e &f have
X|"i k3 Xz’R 2 K"—k_
( 0‘0)* G +v\*(’_;o—_ N’X(h’|)




- <he 5@% o dhe MYt (5 dewsled as
pe @EYye (B -+ )

%o wndot rwmhb sasisplinn oW e Yompleg

D N /Xz( n-1)
ﬁ-‘l“ f‘*"“"é D S ﬁlwt»;ﬁs ke M e pmdﬁ»‘ce,, slag 4 s g-%—
grly  dopsadiy e shmply, 4
Xl(n—ﬂ

AN

Z (n=1),
‘L& we ohsesve P u»pLe T Lw%u’& yhe ’k‘w—\), ~(wrUe .

yhe Mld arguaphon 1D vousowahle,
D ’'a 11‘1 hbrame rpfmg (,Gv'lw. e shodd oneg ('n

loe LJMR/

18 e vheame
e chove ),  thew  we bebbe  Same Shenge o exdreme hos  hamands,

o thad  dhe noalih Lypoba s vejeced.
PNe Wually  mpare D vith  de gxadrvo#-, X,;; (r-1), otk

¢
‘CV\WI-M.. ¥=o.98 Vs MM.




OTAT &1 % L etdwre POt 22

E% | 1) we obeatve G sed o4 sempleg oth 6o = [

p———— L

5%, o.4%, oh5, =oko, —oib (S0 X =ouki)

chon D= ( 158~ 0. kY + (098 - 049) + (o0-45-0.u§) 4 (-0-de- o &q)’
lorth-oti Yz 265 < Xogy ()20 41

Sa Ve laeply  seem Jo be  Gamp JLEVY hovnal  weoded

% 1) e hws nzlo sayly with  6o= &

T

.CWSQ the  Sauple  vamune § = o

Ave e saaples fown hovwel moded 7

oo ety 8 la—1) x lo 2
(ky,— X) = (h 25 - g—-———\lz—-——' = 22.5 % Xo.q;(q)
[+

= 16.92.

TNV

l
sOl i 'D-; 6_{

0

G the ree sampley hay ol follod orua|  weodef,




2

K

th k

N cdem ends

O

1

Cedl g

0
Er

L1

cedly

Qo= Obsaed frejreay 1o

-

E,C z EX"M‘J &fesma i'n

thon  Hhe K goedaes of

2z

(o, - EC)

’*____/
E..

=

k
=L

N

(el 3

cehs.

G cerly .

Cedl &

AR Z1 I E

v X Cha),

?,a(ﬁms A4 i kel (A veviend of  STHT 550)




Jdheousad  weodd Chechiy

Gupae Kk hoxes LA Oc= o bl oshe £ Dok

k:‘blia\- -~ k' ‘Y\‘.', O'—t 01_“"-.//+ OK )

Dealon 18 (0. 02— Ok)  hrom kol (i 7 P 9) 0

(NL‘“ fro~= P >0 G2 kmown . P, + Pttt Puz,

undor (O, - = 0K) N yoek binamsd (03 Py, P = P )
O 0> O%.
E\ B h‘k
SO - |
box | box 2 box k
Ei= 7 Py, Eaz wPa, - — ~ Eg= wp,

co. Mo X goedness o fib dest 1S

,X'L__ -)i— (O,C-— "\0\:)
, L= "PL

L\Q 7%«»»“\6 Re Qe 1t s the $Ml'zug YM.‘J«A_




B TE @ on o) - (rs e iey

CLML (01 02, O3 ) O /V\M/(LI'V\OUMJQJ ((00,' 0.6 2.3 D,‘>

SOI‘. * 4'601 ,7' ’Oz
o G5 (deoseyt (5210 gk (a)< BE

o o (O

So  Hht shuples do ol Bodlod  Lhe  hehbiromnd  neodef,
JLQ SL»JEL&Q WhC&ubc 15

45- 6o

R . A5k |
‘ J(av(o.é)(.,q.) - ‘3-06.
4e-30
R1‘=‘ - l Y
Tmtonen -

Is-lo
R}‘ - — = 1.6?

ALo°(°ﬂ)(°ﬁ)




£
Swre
Queshiom do .v‘»u{ o (2d Exponenbed (1) 7

o we kave X da, - Yoo awd stagle

Thao G X - hesd

Firsh . (b Cole B 21enT Ba=(er28, B3= (2 5T, 84 2(5.0)

boiz 14 Oc = # of semply v she oth bex, (=1,2,3.4

B & 3 84

Qewnd . fd  Ev. Es. By ey

E_(:: QKrMJ"l/ﬂ I d( 36«\«7% “,‘ B'LI ) 4;7,,‘ A. 3. 4_

{
h'— & 6.7‘ JK%\’Q——‘ = 0'632. ( ¢ Xy 66;))'

0

R A ) -2
P;: P X-;e‘Sw.)" S et dr= ¢ -e =0-232,
\

P%f— y\ XseﬁB): &5 Q,x &i: e-z’e—5= D,'Jﬁ

2

»

t7‘l‘-"' vl Kge 347‘ S 6-7( 11-.-— c'fzo.ooq-

-

© £= (=) (ob32)z 632, Eaz (1oHe232)2 23,2,

E—S: (“"")(“‘lﬂ)‘zh.ﬁ ) Ey = (o°)( o007 )40.?.



1S e oLse«u-J M (-9.,0;,03' O4_>= Céo, a5, (lf,g)

* * - (24Y)°
Then )= (60 -$3) . (25-23.2) L)
63,2

_+
3,2 129

( I—c-'»-'()2
o %

T 0524 < 23y = q.|
D.i‘-

So- s Sonpled Mmosf  (Swe —fp—w- ExrovMu('),

-63.2
R)= oY = T —e b4
,J—(;(o.bsz)((-o-bsz)
2§-23%.2
Re= S 0.416.
4)Too( 0.232) (1~ 0:237)
1~ 129
n&" T o032}
}(ao( a1294)(1-012%)
|- o.1
Ry = —

—— = 0.36o.

J (,79(0.007) ( - 0-001) )




'_E’K_(_ -1{3 Toe hos nztoo Hens Ma— who 4o are Jerale

Led X< o formade klews  Tesd X A vl (oo, 0.5)

\: M,
Sl

O‘=4-° 0,= 6°
E 50 Ev= Bb.

\ 1
So. Y= (4°-%) (60- 2
x 5o YT 24 Yoy (D =354

4o ~ SV
,\)(M(D-;)(o-ss B

R.=

~a‘

l,o-——b’b

Jmtosyes | 2

Ry-=




